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Math — G8
Miss Sindiya Alnaqbi




£\Lall sjlaie gl Parallelogram sides

Find the value of v in the given _uh.dlgj.a‘jh.ﬁlj;viyi.qimi
parallelogram.
y+8
Sy
y==8 4
y=4 2
y=13 c



g\udl sjlgis Llgy Parallelogram angles

Find the value of x in the given el BUH gl A x dad
parallelogram.
d K
(2x —1)"
M L

x=>52 e

x=138 b
x=37 S

x = 53 .



E!l-hi ujlglo ;¢ w8l Tests for parallelogram

Which of the following e g Bl dld JS)
quadrilaterals is a parailelogram?

A
3 I
A



Jibiwall ke Rectangle's diagonals

Quadrilateral DEFG is & rectangle. -iics DEFG o £
FFD=3X-Tand EG=X+5, EG=X+5 D =3X-T
find EG. G
] £
G f
11 A
& kb
3 £



Quadrilateral ABCD is a rhombus.
If AB = 14, find BC.

14

-0 ABCD L Je2
BC 34 ,AB = 14 js 1)




Quadrilateral ABCD is a rectangle.
If ms1 = 40°, find the measure
of ~2.

Juliiis ABCD el Joi)
£2. Saab sasl ams 1 = 40° s 13)

50°

40°

20°



Quadrilateral WXYZ is a square.

fWT = 3, find ZX.

1.5

s WXYZ sl Jil
VX sl WT = 3 o513



Trapezoid wo)=iall aui

Find the measure of 2L in the Lol chadiall asd B 21 Calid g
trapazoid balow.
J - K
<] ]
80" -
M L
s0° 2
40" b
100 o



Diagonals ,Ubs)|

Which of the following statements Pl Aaana 0D kel (e
is always true?

The rectangle’s diagonals are congruent.

Jaabala B3 glgia b ]
The parallelogram’s diagonals are perpendicular '
(e Cnal] i :
The rhombus’s diagonals are congruent, '
cohsalada Jukioal) 1yd ;

The rectangle’s diagonals are perpendicular.



Tests for Paralielogram gllall sjleis o waisl

Find x and vy so that the Aol JSAN 055 Sas ¥ g X LlE oyl
guadrilateral below Is a kil gigia ol
parallelogram.
5" {5y — 26)
{4y + 4)° 7
¥+ 4)

X = b6, y = 30 .2

x=8 y=130 B

x=56, y =124 e

=8 y=124 d



Ql1l

Use the roster method to write the

sat of natural numbears less than 6.

{1,2,3,4,5,6]

{0,1,2,3,4,5)}

11,2,3,4.5}

[“-I 1|2I3| 4r 5r ﬁ}

roli=ll 453 Roster method

A a8 piad) 3 Ak adic
6 S A Agmplal HagY)



Ql2

Which of the following statements
is true?

5e{3}

{8} < {510}

{a b, e} € {a, b}

0 € {3}

dcgozall clu Set Builder

hausua A sl “51
]
b
i
.



Jilegazall gbslay Sets junction

LetA=1{3,6912} A=1036912]) s

and B ~ {2,4,6,8,10, 12, 14}. B ={24681012 14} 5

Find A 1 B. ANB .mﬁ
o] (3.6,12} 2
D {6,127, 14} b
O (12,14} £

.2 {6.12] d



wlcgazall nolic Sets elements

Which of the following sets piall o o ghal D e gagall g
contains the slements 2, 4 and 67 Y6 34 32

(xjxcE , x> 6]
{x|x € Eand x > &6}

[x|x € E 5 x > 2}
(x/x € Eand x > 2]

o

[xjx€E 3y x< 7}

{x|]x f Eand x < 7}

{x|x €E y x < 6}
[x|x € Eand x < 6}



oo blase Venn diagram

Choose the Venn diagram that (AU B) sl ¢ Venn o ki Jil
shows (A U B)' shaded. 111




